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Multiplication Table Chart (0-12)

O 00O NO U B WIN = OB

=R =
N = O

0 1 2

0 0 0 0 0 0 0 0 0 0 0 0 0

0 1 2 3 4 5 6 7 8 9 | 10 | 11 | 12
0 2 4 6 8 |10 | 12 |14 | 16 | 18 | 20 | 22 | 24
0 3 6 9 112 | 15 | 18 | 21 | 24 | 27 | 30 | 33 | 36
0 4 8 |12 |16 | 20 | 24 | 28 | 32 | 36 | 40 | 44 | 48
0 5 1015120 | 25 | 30|35 40| 45| 50 | 55 | 60
0 6 | 12 | 18 |24 | 30 | 36 |42 | 48 | 54 |1 60 | 66 | 72
0 /7 |14 | 21|28 | 35|42 |49 |56 | 63|70 | 77 | 84
0 8 |16 | 24 |32 |40 | 48 | 56 | 64 | 72 | 80 | 88 | 96
0 9 |18 | 27136 | 45 | 54163 | 72| 81|90 | 99 |108
O |10 | 20 | 30 |40 | 50 60 | 70 | 80 | 90 | 100|110 120
O |11 | 22 | 33 |44 |55 66|77 | 88 | 99 1110|121 |132
O |12 | 24 | 36 |48 | 60 | 72 | 84 | 96 |108|120 132|144
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How to Use the Multiplication Chart

Product Lookup Mo 1 2 3 4
[N O 0 0 0 0 0 0 0 0 0 0 0 0
. . . 1 B0 1 2 3 4 5 6 7 8 9 10 | 11| 12
* Find the multiplicand along the top 2[4 6 |5 10| 12|14 16 18| 20 22 24
and the multiplier along the left side. g
The product is at the intersection of g 0| 5 10[15]20[2s [30f35]40]4s|50]55] 60
6 BN 6 12 | 18 124 |30 | 36|42 | 48 | 54| 60| 66 | 72
the tWO_ - 0| 7 |14|21|28|35|42|49|56|63]|70]| 77| 84
¥ O 8 16 | 24 |1 32|40 | 48| 56 | 64 | 72| 80| 88 | 96
9 N0 9 18 | 27136 |45 | 54163 | 72| 81|90 | 99 |108
. Example.' 6x7 =42 ] 0 | 10 | 20 | 30 | 40 | 50 | 60 | 70 | 80 | 90 | 100 110] 120
% O 11 | 22| 33|44 | 55|66 |77 | 8| 99|110|121|132
vl O 12 | 24 | 36 | 48 | 60 | 72 | 84 | 96 | 108] 120|132 | 144

Factor Review Mo 1 2 3 4
0 me 0 0 0 0 0 0 0 0 0 0 0 0
. 1 Bo) 1 2 3 4 5 6 7 8 9 10 | 11| 12
 Pick a factor and read down the Mo a6 s 10 12|14 16 18] 20 22 24
column to count by that factor. : ERERERERETET EEsT raETIE:
% O 5 10| 151 20| 25|30 35|40 | 45] 50| 55| 60
[ ) Example' Count by 9’8 (@ O 6 12 | 18 1 24 | 30 | 36|42 | 48 | 54| 60 | 66 | 72
) 7 B 7 14 | 21128 | 35|42 |49 |56 | 63| 70| 77 | 84
¥ O 8 16 | 24 |1 32| 40 | 48| 56 | 64 | 72| 80 | 88 | 96
9 NI 9 18 | 27136 |45 | 54163 | 72| 81|90 | 99 |108
il O 10 | 20| 30140 |50 60| 70| 8| 90 |100|110|120
% O 11 | 22|33 |44 | 55|66 |77 | 8 | 99|110|121|132
ivA O 12 | 24 | 36 |1 48 | 60 | 72 | 84 | 96 | 108]| 120|132 | 144
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Division Table Chart (0-12)

O 0O NGO UV A WN =R O

I T
N = O

0 1 2 6 9

0 0 0 0 0 0 0 0 0 0 0 0 0

0 1 2 3 4 5 6 7 38 9 | 10 | 11 | 12
0 2 4 6 8 |10 1 12 |14 | 16 | 18 | 20 | 22 | 24
0 3 6 9 112 15 | 18 |21 | 24 | 27 |1 30 | 33 | 36
0 4 8 |12 116 | 20 | 24 | 28 | 32 | 36 | 40 | 44 | 48
0 5 1015120 25 30|35 |40 45|50 | 55| 60
0 6 |12 | 18124 | 30 | 36 |42 | 48 | 54 | 60 | 66 | /2
0 /7 |14 21128 35|42 |49 56 63|70 77 84
0 8 |16 | 24 |32 | 40 | 48 |56 | 64 | 72 | 80 | 88 | 96
0 9 |18 | 27 |36 |45 | 54 |63 | 72 | 81 ] 90 | 99 | 108
O (10| 20| 30|40 | 50 60| /0 80 | 90 |100 110 120
O (11|22 33|44 |55 | 66|77 | 88 | 99 |110|121 132
O |12 | 24 36 |48 | 60 | 72 | 84 | 96 | 108120 | 132|144
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How to Use the Division Chart

Quotient Lookup B 1 2 3 4
0 e 0 0 0 0 0 0 0 0 0 0 0
« Find the divisor along the t_op, then B R R T ETRETRRT
look down that column to find the o6 o112 15 18121 24127130 33 36
.. 4 N 4 8 12116 | 20| 24 |1 28 | 32| 36| 40 | 44 | 48
dividend. Then follow that to the left to 0 [ s |10 15|20 25|30 35 40] 45| 5055 60
. . 6 IO 6 12 | 18 124 | 30| 36|42 | 48 | 54| 60 | 66 | 72
flnd the qUOtlent. 70 0] 7 |14] 21| 28] 35 42h 56| 63| 70 | 77 | 84
3 O 8 16 | 24132 |40 | 48| 56 | 64 | 72| 80 | 88 | 96
- Example: 42/6=7 BRI P LA e
11 N6 11 | 22 | 33|44 | 55| 66| 77| 88 | 991110|121|132
vl O 12 | 24 | 36 | 48 | 60 | 72 | 84 | 96 | 108]120| 132|144

Factor Review

1

0

1 5 6 7 8 9 |10 11| 12
2 8 |10 12]]14 16| 18] 20| 22 | 24
3 9 |12 | 1518|121 )24 | 27|30 33| 36
4 8 [ 12|16 |20 | 24|28 | 32| 36| 40| 44| 48
5

6

7

8

9

 Pick a factor and read down the
column to count by that factor.

10 [ 15]20 | 25| 30|35| 40| 45]50| 55| 60
12 | 18 124 | 30 | 36 | 42 | 48 | 54| 60 | 66 | 72
14 | 21128 | 35|42 49|56 |63 ]|70]| 77| 84
16 [ 24132 |40 | 48|56 | 64| 72| 80| 88 | 96
18 | 27 136 |45 [ 54163 | 72| 81] 90| 99 108
10 {20 | 30140 | 50 | 60] 70 | 80| 950|100 110|120
11 | 22 |33 |44 |55 |66]| 77 | 88| 99|110|121|132
12 | 24 | 36 |1 48 | 60 | 72 | 84 | 96 | 108]| 120|132 144

 Example: count by 9's

O O NOOUVAWNR OREER

O|Oo|Oo|o|O|0O|o|Oo|Oo|©o |O|OC |OC K=

BoR R
N B O
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Addition Table Chart (0-12)

+ Y 1 2 6

0 me 1 2 3 4 5 6 7 3 9 110 11 | 12
1 ! 2 3 4 5 6 7 3 9 10| 11 | 12 | 13
2 3 4 5 6 7 3 9 10 | 11| 12 | 13 | 14
3 EE 4 5 6 ] 3 9 |10 11 | 12 | 13 | 14 | 15
4 mi 5 6 7 3 9 /10|11 |12 | 13| 14 | 15 | 16
N 5 6 7 3 9 10 1 11|12 | 13 | 14 | 15 | 16 | 17
6 I 7/ 3 9 110 | 11 | 12 113 | 14 | 15| 16 | 17 | 18
7 B 3 9 (10|11 12 | 13|14 15|16 | 17 18 | 19
8 9 /10 | 11|12 | 13 | 14|15 |16 | 17|18 | 19 | 20
va 9 | 10|11 |12 |13 14 | 15|16 | 17 | 18 | 19 | 20 | 21
] 10 | 11 | 12 | 13 114 | 15|16 |17 | 18 | 19| 20 | 21 | 22
b 11 | 12 | 13 |14 |1 15|16 | 17 |18 | 19| 20| 21 | 22 | 23
vy 12 | 13 | 14 | 15116 | 17 | 18 |19 | 20 | 21| 22 | 23 | 24
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How to Use the Addition Chart

Sum Lookup

« Find the augend along the top and the
addend along the left side. The sum
is at the intersection of the two.

« Example: 6 + 7 =13 —

7
7 8 9 |1]10| 11| 12
8

9 [10) 11| 12| 13
9 110111213 | 14
9 |10 11|12} 13| 14 | 15
9 |10 11|12 |13 )14 | 15]| 16
9 |10 | 1112 | 13|14 |15 | 16| 17
9 110 [ 11 12]13 ) 1415|116 | 17 | 18
9 |10 1112 | 13|14 | 15| 16| 17| 18| 19
9 101112 1314|1516 | 17|18 | 19| 20
10 |11 |12 113 |14 | 1516 | 17 18|19 | 20| 21

[c<BRNEI N [ RF-NIVRY SE N

I EE N S S ™Y —

00 NO UV A WNR OEREJ

O 0N~ |WIN|F | O K=]

bRy 11 | 12 |13 | 14|15 |16 | 17|18 | 19| 20| 21 | 22| 23
jb] 12 | 13 |14 | 15|16 |17 | 18|19 | 20| 21|22 | 23| 24

Pattern Recognition

« Explore different numerical patterns to
show addition properties.

« Example: 6 + 4 and 3 + 7 both = 10
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Subtraction Table Chart (0-17)
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How to Use the Subtraction Chart

Difference Lookup

*  Find the minuend along the top N RN A A RN B STR S RN AR
and the subtrahend along the : O EW N WA [N 0 I N K TR ETR
left side. The difference is at the : o [1fafstalslel7[s]o [ofu
intersection of the two. : olilafs]elslelr]lels

10 0 1 2 3 4 5 6 7

« Example: 7—4=3 SERENEREWERE

16 ol
17 0

Pattern Recognition

2 3 4 5 6 7 8 9 10
° E pl d ff | [ o | 1| 234|567 |89 w0f1a]12]13]14]15]16]17
Xplore ai erent numerica 1 121345 6|7 |89 |10]11]12]13]|14]15]16

1 2 1|2 4 7 1011121314 |1

patterns to show subtraction 2 s

H 4 0| 1|2]3]|a|s5|6]| 7|89 |10]11]12]13
propertles 5 0|12 3|45 6|7 |89 |10]11]12

6 0| 12|34 ]|5]|6]|7]8]|9|10]11

7 0| 1|23 a|s |6 |78 9 |10

° Example 8 o1 2]3]als5]e[7 8]0
) 0 1]21314]5]6]7]38

10 01|23 4|5 |67

11 ol 12345 |56

12 -6 and 11 - 5 both equal 6 1 1l2lsle]s]s

13 0o l1]213]a4

14 o123

15 012

16 0|1

17 0
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